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General Instructions :

Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A — Questions no. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Questions no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C - Questions no. 25 to 30 are long answer type questions,

carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Write the number of valence electrons present in a nitrogen atom (1;LN). 1
2. Define the term induced electric current. 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Around the year 1800, only 30 elements were known. Dobereiner
in 1817 and Newlands in 1866 tried to arrange the then known elements
and framed laws which were rejected by the scientists. Even after the
rejection of the proposed laws, many scientists continued to search for a
pattern that correlated the properties of elements with their atomic
masses.
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The main credit for classifying elements goes to Mendeleev for his
most important contribution to the early development of a Periodic table
of elements wherein he arranged the elements on the basis of their
fundamental property, the atomic mass and also on the similarity of
chemical properties. The formulae of their hydrides and oxides were

treated as basic criteria for the classification of the elements.

However, Mendeleev’s classification also had some limitations as it
could not assign the position to isotopes. He also left some gaps in the

periodic table.
3(a) State Mendeleev’s Periodic Law.
3(b) Why did Mendeleev leave some gaps in the Periodic table ?

3(c) If the letter ‘R’ was used to represent any of the elements in the
group, then the hydride and oxide of carbon would respectively be
represented as

i  RH, RO
(i) RH, RO,
(i) RH,, RO,

(iv) RH,, RO

3(d) Isotopes are

) Atoms of an element with similar chemical properties but

different atomic masses.

(i1)  Atoms of different elements with similar chemical properties
but different atomic masses.

(i1i)) Atoms of an element with different chemical properties but

same atomic masses.

(iv) Atoms of different elements with different chemical

properties but same atomic masses.

31411 8 5 P.TO.
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4. Answer question numbers 4(a) — 4(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

India today is facing the problem of overuse of resources,
contamination of water and soil and lack of methods of processing the
waste. The time has come for the world to say goodbye to “single-use
plastics”. Steps must be undertaken to develop environment-friendly

substitutes, effective plastic waste collection and methods of its disposal.

Indore treated 15 lakh metric tonnes of waste in just 3 years,
through biomining and bioremediation techniques. Bioremediation
involves introducing microbes into a landfill to naturally ‘break’ it down
and biomining involves using trommel machines to sift through the waste
to separate the ‘soil’ and the waste component. The city managed to chip

away 15 lakh metric tonnes of waste at a cost of around ¥ 10 crore. A

similar experiment was successfully carried out in Ahmedabad also.

4(a) State two methods of effective plastic waste collection in your

school. 1

4(b) Name any two uses of “single-use plastic” in daily life. 1

4(c) If we discontinue the wuse of plasticc how can an

environment-friendly substitute be provided ? 1

4(d) Do you think microbes will work similarly in landfill sites as they

work in the laboratory ? Justify your answer. 1
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5. Which one of the following statements is correct about the human

circulatory system ? 1
(A)  Blood transports only oxygen and not carbon dioxide.
(B) Human heart has five chambers.

(C) Valves ensure that the blood does not flow backwards.

(D) Both oxygen-rich and oxygen-deficient blood gets mixed in the
heart.

6. Anaerobic process 1
(A) takes place in yeast during fermentation.
(B) takes place in the presence of oxygen.
(C)  produces only energy in the muscles of human beings.

(D)  produces ethanol, oxygen and energy.

OR
Most of the digestion and absorption of the food takes place in the 1
(A) small intestine.
(B) liver.
(C)  stomach.
(D) large intestine.
7. Fertilisation is the process of 1

(A) transfer of male gamete to female gamete.

(B)  fusion of nuclei of male and female gamete.

(C) adhesion of male and female reproductive organs.
(D)  the formation of gametes by a reproductive organ.

31411 98 9 PTO.
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8. If a person has five resistors each of value é Q, then the maximum

resistance he can obtain by connecting them is 1
A 1Q
B) 5Q
(C) 10Q
(D) 25Q
OR

The resistance of a resistor is reduced to half of its initial value. In doing
so, if other parameters of the circuit remain unchanged, the heating

effects in the resistor will become 1
(A) two times.

(B)  half.

(C)  one-fourth.

(D) four times.

9. Fleming’s Right-hand rule gives 1
(A) magnitude of the induced current.
(B) magnitude of the magnetic field.
(C)  direction of the induced current.
(D)  both, direction and magnitude of the induced current.
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10.

11.

12.

.31/4/1

Which one of the following statements is not true about nuclear energy
generation in a nuclear reactor ?

(A)  Energy is obtained by a process called nuclear fission.
(B)  The nucleus of Uranium is bombarded with high energy neutrons.
(C) A chain reaction is set in the process.

(D) In this process a tremendous amount of energy is released at a
controlled rate.

OR
The biggest source of energy on Earth’s surface is
(A) Biomass
(B)  Solar radiations
(C) Tides
(D) Winds
Food web is constituted by
(A) relationship between the organisms and the environment.
(B) relationship between plants and animals.
(C)  various interlinked food chains in an ecosystem.
(D) relationship between animals and environment.
Choose the incorrect statement from the following :

(A)  Ozone is a molecule formed by three atoms of oxygen.

(B)  Ozone shields the surface of the Earth from ultraviolet radiations.
(C)  Ozone is deadly poisonous.

(D)  Ozone gets decomposed by UV radiations.

= 13 _PTO.
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For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (a), (b), (¢) and (d) as
given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of the
assertion (A).

(b)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).

(c) (A) is true, but (R) is false.
(d) (A)is false, but (R) is true.

13. Assertion (A) : Following is a balanced chemical equation for the action
of steam on iron :

3Fe + 4H,0 — > Fe 0, + 4H,

Reason (R): The law of conservation of mass holds good for a chemical
equation. 1

14. Assertion (A) : The sex of a child in human beings will be determined by
the type of chromosome he/she inherits from the father.

Reason (R): A child who inherits X’ chromosome from his father
would be a girl (XX), while a child who inherits a
‘Y’ chromosome from the father would be a boy (XY). 1
SECTION B
15. Lead nitrate solution is added to a test tube containing potassium iodide
solution.

(a)  Write the name and colour of the compound precipitated.
(b)  Write the balanced chemical equation for the reaction involved.

(c) Name the type of this reaction justifying your answer. 3
OR

What happens when food materials containing fats and oils are left for a
long time ? List two observable changes and suggest three ways by which
this phenomenon can be prevented. 3
31411 5y 15 PTO.
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16.

17.
18.

19.

20.

21.

31411 98 17 PTO.

List three differentiating features between the processes of galvanisation
and alloying.
OR

Compare in tabular form the reactivities of the following metals with cold
and hot water :

(a)  Sodium

(b)  Calcium

(c) Magnesium

Carbon, a member of group 14, forms a large number of carbon

compounds estimated to be about three million. Why is this property not
exhibited by other elements of this group ? Explain.

A cheetah, on seeing a prey, moves towards him at a very high speed.
What causes the movement of his muscles ? How does the chemistry of
cellular components of muscles change during this event ?

Define geotropism. Draw a labelled diagram of a plant showing geotropic
movements of its parts.

Define the term evolution. “Evolution cannot be equated with progress.”
Justify this statement.

OR
“During the course of evolution, organs or features may be adapted for

new functions.” Explain this fact by choosing an appropriate example.

A concave mirror is used for image formation for different positions of an
object. What inferences can be drawn about the following when an object
is placed at a distance of 10 cm from the pole of a concave mirror of focal
length 15 cm ?

(a)  Position of the image
(b)  Size of the image
(c) Nature of the image

Draw a labelled ray diagram to justify your inferences.
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22.

23.

24.

25.

The refractive index of a medium ‘X’ with respect to a medium °y’ is 2/3

and the refractive index of medium ‘y’ with respect to medium ‘z’ is 4/3.
Find the refractive index of medium ‘z’ with respect to medium x’. If the
speed of light in medium %’ is 3 x 108 ms™1, calculate the speed of light

in medium ‘y’. 3
A person may suffer from both myopia and hypermetropia defects.

(a)  What is this condition called ?

(b)  When does it happen ?

(c) Name the type of lens often required by the persons suffering from

this defect. Draw labelled diagram of such lenses. 3

How will you use two identical glass prisms so that a narrow beam of
white light incident on one prism emerges out of the second prism as

white light ? Draw and label the ray diagram. 3

SECTION C

A cloth strip dipped in onion juice is used for testing a liquid X’. The
liquid X’ changes its odour. Which type of an indicator is onion juice ?
The liquid X’ turns blue litmus red. List the observations the liquid X’

will show on reacting with the following :
(a)  Zinc granules
(b)  Solid sodium carbonate

Write the chemical equations for the reactions involved. 5

OR

Define water of crystallisation. Give the chemical formula for two
compounds as examples. How can it be proved that the water of
crystallisation makes a difference in the state and colour of the
compounds ? 5
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26. (a)

(b)

27. (a)
(b)
(c)
(d)

i) M (Mee) % a8 q 01 fafae St 38 3mymeTt & fofe e afess
I0Yh S @ |

(i) 3 < grgsi o 9 fIfeu S S & qay T =T @ ?

(iii) 3 < argsti o 1 fafer gt | W W/ fUee St 2 |

TAFLA-Tog, TG |igd AT AR CaO o &+ hi AT HiT |
hfcdam 3 TTerfisH o TTATY] ShHTeh SHEST: 20 3 8% |

T IR % foTw drwor =t STeveeh § 2

JMMER AT o WX WISH i whiF T TG LT & 2

HHTETE! ohl G § SehTaTiEl o g JAfueh oiwesl @i grdl & ?
Ife SIS UTAT TASHAT T FauT F B, o F=T B 2

28. Torelt o0 & fo8=m &l oA &1 Wes @ Wik R 30 W (a) WIHEA,
(b) T SH-SRITTHT 3TN (c) HIGT TH-hIfehT <l AHIThd hifTe | gor & fm=m
1 gfskan i e i | e % uvET () e SR (i) diwve @
1 BT 8 ?

(a)
(b)

(c)
(d)
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26. (a)

(b)

27. (a)
(b)
(c)
(d)

1) Write two properties of gold which make it the most suitable

metal for ornaments.
(11) Name two metals which are the best conductors of heat.

(iii) Name two metals which melt when you keep them on your
palm.

Explain the formation of ionic compound CaO with electron-dot
structure. Atomic numbers of calcium and oxygen are 20 and 8
respectively. 5

Why is nutrition necessary for the human body ?
What causes movement of food inside the alimentary canal ?
Why is small intestine in herbivores longer than in carnivores ?

What will happen if mucus is not secreted by the gastric glands ? 5

28. Draw a neat diagram showing fertilisation in a flower and label (a) Pollen

tube, (b) Male germ cell and (¢c) Female germ cell, on it. Explain the

process of fertilisation in a flower. What happens to the (i) ovary and

(i1) ovule after fertilisation ?
OR
(a)  What is puberty ?
(b)  Describe in brief the functions of the following parts in the human
male reproductive system :
(1) Testes
(i1))  Seminal vesicle
(iii) Vas deferens
(iv)  Urethra
(c) Why are testes located outside the abdominal cavity ?
(d)  State how sperms move towards the female germ cell. 5
a1 g 21 _PTO.
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29.

30.

.31/4/1

fortt U8 uitgY o1 sgeen MW Wi foed 2 Vo 9 aat i 9l e |
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(a) I Ufaligss & yaTigd 9

(b) 99y ¥ yaTed $ 9/

(c) UG 1 A THE Thaiy

AT

frelt 6 V il St @ 9 wdug vfatiges, fH y@s @1 ufg 15 Q B,
TS & g () Avft 7, 3 R (i) aed # wAfa fope e E | e e
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(a) AT 1 gA-gEa fam fafgu |

(b) ®H AU W A o faga g 1 3w wd B 38 o fafsmse @
sh = S413T |

(c) RIS o1 I B ? 39 gL& Ik F1 had @ ?
(d)  oTq o STEXT ITeT Togd HIEET i YHFI(hd AT F1 HTEIIH & ?
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29.

30.

Draw a schematic diagram of a circuit consisting of a battery of 3 cells of
2V each, a combination of three resistors of 10 Q, 20 Q and 30 Q
connected in parallel, a plug key and an ammeter, all connected in series.

Use this circuit to find the value of the following :
(a)  Current through each resistor
(b)  Total current in the circuit

(¢) Total effective resistance of the circuit

OR

Two identical resistors, each of resistance 15 Q, are connected in
(i) series, and (ii) parallel, in turn to a battery of 6 V. Calculate the ratio

of the power consumed in the combination of resistors in each case.

(a)  State Fleming’s Left-hand rule.

(b) List three characteristic features of the electric current used in our

homes.
(c) What is a fuse ? Why is it called a safety device ?

(d)  Why is it necessary to earth metallic electric appliances ?
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General Instructions :

Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it) Section A — Questions no. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Questions no. 15 to 24 are short answer type questions,
carrying 8 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — Questions no. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Which oils should be chosen for cooking to remain healthy ? 1
2. Define the term induced electric current. 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Around the year 1800, only 30 elements were known. Dobereiner
in 1817 and Newlands in 1866 tried to arrange the then known elements
and framed laws which were rejected by the scientists. Even after the
rejection of the proposed laws, many scientists continued to search for a
pattern that correlated the properties of elements with their atomic

masses.
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Tl < TRl 1 &I 99 Wreail® I ST &, M-aH awal sl ATad
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W] Hreeli & arfieheor # oft 5 wivEt off, wife sov wmeenfi =i
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(i) RH,RO
(i)  RH4 RO,

(iii) RH,, RO,

(iv) RH,, RO
3(d) EHEATHS
(i) Torell o o 97 T € ek qEmies e T ateg g
g T gid |
(i) TE-fE T % 98 T g Sk T UEH §HE 9
Y] g e g 2 |

(iii) ToREl T o 98 WA & Teh THRMS TUrEH IE 9 9]
T 99H Bd ® |

(iv) Tmfim aei & ag sy 8 SFe temfe quad | oy
TTHTY] G HHE B 8 |

g;% 4



The main credit for classifying elements goes to Mendeleev for his
most important contribution to the early development of a Periodic table
of elements wherein he arranged the elements on the basis of their
fundamental property, the atomic mass and also on the similarity of
chemical properties. The formulae of their hydrides and oxides were

treated as basic criteria for the classification of the elements.

However, Mendeleev’s classification also had some limitations as it

could not assign the position to isotopes. He also left some gaps in the

periodic table.

3(a) State Mendeleev’s Periodic Law.

3(b) Why did Mendeleev leave some gaps in the Periodic table ?

3(c) If the letter ‘R’ was used to represent any of the elements in the
group, then the hydride and oxide of carbon would respectively be
represented as
(1) RH,, RO
(i) RH,, RO,

(iii) RHy, ROy
(iv)  RH,, RO
3(d) Isotopes are 1

1) Atoms of an element with similar chemical properties but
different atomic masses.

(i1)  Atoms of different elements with similar chemical properties
but different atomic masses.

(i1i)) Atoms of an element with different chemical properties but
same atomic masses.

(iv) Atoms of different elements with different chemical
properties but same atomic masses.
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4. THfaRed AT=s¢ 3R 9 T Halid deheaall hi S % GR T TH
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U1 & T TR S StEHgreTe § oft foam T |

Aa) I foumaa § ufise wATfeesh sl Uhd & 1 e yvrel fafml s
Iooig il |

4(b) “THA-ITIN TATEEH  oh f-eh Sitad H his & 39 failRay |

4(c) e e &1 IUAM Ush AT A, A1 g8k LA W g G Tal-fEast
forehea 8 yem foram ST FehdT 2 2

4(d) T AT UH Hiad & o vefha Tod ® SfaTe] IE YRR R AT S
J AT H A 7 ? I I i gt T |
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4, Answer question numbers 4(a) — 4(d) on the basis of your understanding
of the following paragraph and the related studied concepts :

India today is facing the problem of overuse of resources,
contamination of water and soil and lack of methods of processing the
waste. The time has come for the world to say goodbye to “single-use
plastics”. Steps must be undertaken to develop environment-friendly

substitutes, effective plastic waste collection and methods of its disposal.

Indore treated 15 lakh metric tonnes of waste in just 3 years,
through biomining and bioremediation techniques. Bioremediation
involves introducing microbes into a landfill to naturally ‘break’ it down
and biomining involves using trommel machines to sift through the waste
to separate the ‘soil’ and the waste component. The city managed to chip
away 15 lakh metric tonnes of waste at a cost of around ¥ 10 crore. A

similar experiment was successfully carried out in Ahmedabad also.

4(a) State two methods of effective plastic waste collection in your

school. 1
4(b) Name any two uses of “single-use plastic” in daily life. 1

4(c) If we discontinue the wuse of plasticc how can an

environment-friendly substitute be provided ? 1

4(d) Do you think microbes will work similarly in landfill sites as they
work in the laboratory ? Justify your answer. 1
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5. Fertilisation is the process of 1
(A) transfer of male gamete to female gamete.
(B)  fusion of nuclei of male and female gamete.
(C) adhesion of male and female reproductive organs.

(D) the formation of gametes by a reproductive organ.

6. In the excretory system of human beings, some substances in the initial
filtrate such as glucose, amino acids, salts and water are selectively
reabsorbed in 1

(A)  Urethra
(B) Nephron
(C)  Ureter
(D)  Urinary bladder
OR
Pseudopodia are 1
(A)  small hair-like structures present on unicellular organisms.
(B) false feet developed in some unicellular organisms.
(C) long, tube-like structures coming out of the mouth.

(D) suckers which are attached to the walls of the intestines.

7. Which one of the following statements is correct about the human
circulatory system ? 1

(A)  Blood transports only oxygen and not carbon dioxide.
(B) Human heart has five chambers.
(C) Valves ensure that the blood does not flow backwards.

(D) Both oxygen-rich and oxygen-deficient blood gets mixed in the
heart.
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(B) ER fafea
(C) “aR-e
(D) 9g4
9. aﬁmwﬁﬁ%wﬁﬂuﬁwa%§&ﬂuﬂ%wgﬁﬁﬂ%Q%,ﬁr‘cra’sé
AT hieh foha Aferepad Ifalier ITed o Teha & ?
A 1Q
B) 5Q
) 10Q
D) 25Q
AT
ferelt wfertierss =1 wfciyr 3Teh IREYes T o1 31mem &L feam mm 8 | v
T, gfe gy & 3= Uraell i gidfad 9 fham e, o 39 gfdtess | 9w
ERICRIE I
(A) T
(B) T4l
(C) UH-AE
(D) =R
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8. Which one of the following statements is not true about nuclear energy

generation in a nuclear reactor ?
(A)  Energy is obtained by a process called nuclear fission.
(B)  The nucleus of Uranium is bombarded with high energy neutrons.
(C) A chain reaction is set in the process.
(D) In this process a tremendous amount of energy is released at a
controlled rate.
OR
The biggest source of energy on Earth’s surface is
(A) Biomass
(B)  Solar radiations
(C)  Tides
(D) Winds
9. If a person has five resistors each of value % Q, then the maximum
resistance he can obtain by connecting them is
A 1Q
(B) 5Q
(C) 10Q
D) 25Q
OR
The resistance of a resistor is reduced to half of its initial value. In doing
so, if other parameters of the circuit remain unchanged, the heating
effects in the resistor will become 1

(A) two times.
(B) half.
(C) one-fourth.

(D) four times.

- B
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10. Fleming’s Right-hand rule gives
(A) magnitude of the induced current.
(B) magnitude of the magnetic field.
(C)  direction of the induced current.
(D)  both, direction and magnitude of the induced current.
11. How much of the net primary productivity of a terrestrial ecosystem is
eaten and digested by herbivores ?
(A)  100%
B) 10%
C 1%
D) 01%
12. Choose the incorrect statement from the following :
(A)  Ozone is a molecule formed by three atoms of oxygen.
(B)  Ozone shields the surface of the Earth from ultraviolet radiations.
(C)  Ozone is deadly poisonous.
(D)  Ozone gets decomposed by UV radiations.
For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (a), (b), (c) and (d) as
given below :
(a) Both (A) and (R) are true and (R) is the correct explanation of the
assertion (A).
(b)  Both (A) and (R) are true, but (R) is not the correct explanation of
the assertion (A).
(c) (A) is true, but (R) is false.
(d) (A)is false, but (R) is true.
13. Assertion (A): The reaction
MnO, + 4HC1 — MnCl, + 2H50 + Cl,
is an example of a redox reaction.
Reason (R) : In this reaction, HCI is reduced to Cly whereas MnOy is
oxidised to MnCls. 1

.31/4/2
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15.
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14. Assertion (A) : Wing of an insect and wing of a bird are analogous
organs.

Reason (R) : The organs which are quite different in fundamental
structure and origin but perform same function in
different species are called analogous organs.

SECTION B

15. When hydrogen sulphide gas is passed through a blue solution of copper
sulphate, the colour of the solution fades and a black precipitate is
obtained.

(a) Name the type of reaction mentioned above.
(b)  Why does the colour of the solution fade away ?

(c) Write the chemical name of the black precipitate formed.

(d)  Give the balanced chemical equation for the reaction involved.
OR
Study the figure given below and answer the following questions :
Oxygen $ % ~— Hydrogen
Test tube = Water
Water
Anode Cathode
@
-
*~~| Battery
(a)  Name the process depicted in the diagram.
(b)  Write the composition of the anode and the cathode.
(c) Write the balanced chemical equation of the reaction taking place
in this case.
(d)  The reaction does not take place if a few drops of dilute sulphuric
acid are not added to water. Why ? 3

- B
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16.

17.

18.

19.

Toreft staaa edur =1 Iy o) o <Y fafire feafoat @ sgent yfdfars s

% foq fopam T 2 | 99 98 ford 15 cm WiRH g8 % HadA U S+ gd °
10 em 38 W @1 7, @ 39 feufa § fefafad o fowa 4 @& frsed feerer s
Tohd & ?

(a) Ufdfers i feafa

(b)  Sfafers w1 @A

(c)  Midfews 1 SeRfd
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(¢) IR
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AT

arferert o &9 ° fmfafiga argsti i 38 ot i @1 & a1y sAfufskamsiiararst
S T ST

(a) Hifeawm
(b)  hicoam
(c) B
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16. A concave mirror is used for image formation for different positions of an
object. What inferences can be drawn about the following when an object
is placed at a distance of 10 cm from the pole of a concave mirror of focal
length 15 cm ?

(a)  Position of the image

(b)  Size of the image

(c) Nature of the image

Draw a labelled ray diagram to justify your inferences.

17. Define the term evolution. “Evolution cannot be equated with progress.”

Justify this statement.

OR
“During the course of evolution, organs or features may be adapted for
new functions.” Explain this fact by choosing an appropriate example.

18. Write in tabular form the location and function of the hormones secreted
by each of the following glands present in the human body :

(a)  Pituitary gland
(b)  Thyroid gland
(c) Pancreas

19. List three differentiating features between the processes of galvanisation

and alloying.

OR

Compare in tabular form the reactivities of the following metals with cold

and hot water :

(a)  Sodium

(b)  Calcium

(c) Magnesium

-
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20.

21.

22,

23.

24.

25.
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20. Carbon, a member of group 14, forms a large number of carbon
compounds estimated to be about three million. Why is this property not
exhibited by other elements of this group ? Explain. 3

21. Define geotropism. Draw a labelled diagram of a plant showing geotropic
movements of its parts. 3

22, (a) For the same angle of incidence of 45°, the refraction angle in two
transparent media P and Q is 20° and 30° respectively. Which of
the two is optically denser and why ?

(b)  Define 1 dioptre power of a lens.

(c) Find the focal length of a lens of power + 0-5 D. 3

23. How will you use two identical glass prisms so that a narrow beam of
white light incident on one prism emerges out of the second prism as

white light ? Draw and label the ray diagram. 3

24. A person may suffer from both myopia and hypermetropia defects.
(a)  What is this condition called ?

(b)  When does it happen ?

(c) Name the type of lens often required by the persons suffering from

this defect. Draw labelled diagram of such lenses. 3

SECTION C

25. Define an alloy. How is an alloy prepared ? List two advantages of
making alloys. Write the composition of stainless steel. Why is steel

preferred over iron ? List two reasons. 5

- B
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27.
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26. Draw a neat diagram showing fertilisation in a flower and label (a) Pollen
tube, (b) Male germ cell and (c) Female germ cell, on it. Explain the
process of fertilisation in a flower. What happens to the (i) ovary and
(i1) ovule after fertilisation ?

OR
(a)  What is puberty ?
(b)  Describe in brief the functions of the following parts in the human
male reproductive system :
1) Testes
(i)  Seminal vesicle
(iii) Vas deferens
(iv)  Urethra
(c) Why are testes located outside the abdominal cavity ?
(d)  State how sperms move towards the female germ cell.

27. Draw a schematic diagram of a circuit consisting of a battery of 3 cells of
2V each, a combination of three resistors of 10 Q, 20 Q and 30 Q
connected in parallel, a plug key and an ammeter, all connected in series.
Use this circuit to find the value of the following :

(a)  Current through each resistor
(b)  Total current in the circuit
(c) Total effective resistance of the circuit
OR

Two identical resistors, each of resistance 15 Q, are connected in
(i) series, and (ii) parallel, in turn to a battery of 6 V. Calculate the ratio
of the power consumed in the combination of resistors in each case.

.
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29.

30.
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28.

29.

30.

.31/4/2

A cloth strip dipped in onion juice is used for testing a liquid X’. The
liquid X’ changes its odour. Which type of an indicator is onion juice ?
The liquid X’ turns blue litmus red. List the observations the liquid X’

will show on reacting with the following :
(a)  Zinc granules
(b)  Solid sodium carbonate

Write the chemical equations for the reactions involved.
OR

Define water of crystallisation. Give the chemical formula for two
compounds as examples. How can it be proved that the water of
crystallisation makes a difference in the state and colour of the

compounds ?

(a)  Why is nutrition necessary for the human body ?

(b)  What causes movement of food inside the alimentary canal ?

(c) Why is small intestine in herbivores longer than in carnivores ?
(d)  What will happen if mucus is not secreted by the gastric glands ?

(a)  State with reasons the mode of connecting all electrical appliances

in common domestic electric circuits.

(b)  Which two separate circuits are often used in domestic electric

circuits and why ?

(¢) When does an electric short circuit occur ? How can it be

prevented ?

g% 23
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General Instructions :

Read the following instructions very carefully and strictly follow them.

(i) This question paper comprises three Sections — A, B and C. There are
30 questions in the question paper. All questions are compulsory.

(it)  Section A — Questions no. 1 to 14 — all questions or part thereof are of
one mark each. These questions comprise Multiple Choice Questions
(MCQ), Very Short Answer (VSA) and Assertion—-Reason type questions.
Answer to these questions should be given in one word or one sentence.

(iti) Section B — Questions no. 15 to 24 are short answer type questions,

carrying 8 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C - Questions no. 25 to 30 are long answer type questions,

carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v)  Answers should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Draw the structure of a carboxylic acid containing three carbon atoms. 1
2. When is the potential difference between two points in a current carrying
conductor said to be 1 volt ? 1
3. Answer question numbers 3(a) — 3(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

Around the year 1800, only 30 elements were known. Dobereiner
in 1817 and Newlands in 1866 tried to arrange the then known elements
and framed laws which were rejected by the scientists. Even after the
rejection of the proposed laws, many scientists continued to search for a
pattern that correlated the properties of elements with their atomic

masses.

-
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Tl < TRl 1 &I 99 Wreail® I ST &, M-aH awal sl ATad
ROl o IRfeh foehtd ® Haiieh Hewqul ANeH TG | 38iH awdi ol 31eh 0
U, Y] g YT TERIAS TUieml B EHHAT 6 MR W Saied

R | 3Tk TTSSTSS! TR STTATSSl o I i Tl oh SMRLU T Hel HIIGUS

HIET 40|

W] Hreeli & arfieheor # oft 5 wivEt off, wife sov wmeenfi =i
Ig TAM a1 T T o1 | I 3T Aol °# $9 Tk Tom oft B fau ¥ |
3(a) HedI® = ATad fom faRau |

3(b) TS A A AR § 3 ik TUH w1 B g & 2

3(c) Al Torelt @y # forelt o &1 R’ 3181 & F&fua fopen Sar 8, a1 e
% BISSIES AN ATaTes i Hu: fohe YR fasfua fekanm smom 2

(1)
(ii)
(iii)

(iv)

RH,, RO
RH,, RO,
RH,, RO,

RH,, RO

3(d) THEATHS

(i)

(i1)
(iii)
(iv)
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The main credit for classifying elements goes to Mendeleev for his
most important contribution to the early development of a Periodic table
of elements wherein he arranged the elements on the basis of their
fundamental property, the atomic mass and also on the similarity of
chemical properties. The formulae of their hydrides and oxides were

treated as basic criteria for the classification of the elements.

However, Mendeleev’s classification also had some limitations as it
could not assign the position to isotopes. He also left some gaps in the

periodic table.
3(a) State Mendeleev’s Periodic Law.
3(b) Why did Mendeleev leave some gaps in the Periodic table ?

3(c) If the letter ‘R’ was used to represent any of the elements in the
group, then the hydride and oxide of carbon would respectively be
represented as

i RH,RO
(i)  RH, RO,
(iii) RH,, RO,
(ivy RH,, RO

3(d) Isotopes are

) Atoms of an element with similar chemical properties but

different atomic masses.

(ii)  Atoms of different elements with similar chemical properties

but different atomic masses.

(i1i)) Atoms of an element with different chemical properties but

same atomic masses.

(iv) Atoms of different elements with different chemical

properties but same atomic masses.

.
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4, Answer question numbers 4(a) — 4(d) on the basis of your understanding

of the following paragraph and the related studied concepts :

India today is facing the problem of overuse of resources,
contamination of water and soil and lack of methods of processing the
waste. The time has come for the world to say goodbye to “single-use
plastics”. Steps must be undertaken to develop environment-friendly

substitutes, effective plastic waste collection and methods of its disposal.

Indore treated 15 lakh metric tonnes of waste in just 3 years,
through biomining and bioremediation techniques. Bioremediation
involves introducing microbes into a landfill to naturally ‘break’ it down
and biomining involves using trommel machines to sift through the waste
to separate the ‘soil’ and the waste component. The city managed to chip

away 15 lakh metric tonnes of waste at a cost of around ¥ 10 crore. A

similar experiment was successfully carried out in Ahmedabad also.

4(a) State two methods of effective plastic waste collection in your

school.
4(b) Name any two uses of “single-use plastic” in daily life.
4(c) If we discontinue the wuse of plasticc how can an
environment-friendly substitute be provided ?
4(d) Do you think microbes will work similarly in landfill sites as they
work in the laboratory ? Justify your answer. 1
5. Choose the incorrect statement from the following : 1

(A)  Ozone is a molecule formed by three atoms of oxygen.
(B)  Ozone shields the surface of the Earth from ultraviolet radiations.
(C)  Ozone is deadly poisonous.

(D)  Ozone gets decomposed by UV radiations.

.
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6. Food web is constituted by 1
(A) relationship between the organisms and the environment.
(B)  relationship between plants and animals.
(C) various interlinked food chains in an ecosystem.

(D) relationship between animals and environment.

7. Which of the following statements is not true about a ‘bud’ in ‘Hydra’ ? 1
(A) Itis an outgrowth.
(B) It forms due to repeated cell division at one specific site.
(C) It detaches from the parent body as soon as it is produced.

(D) It becomes a new independent individual.

8. Anaerobic process 1
(A) takes place in yeast during fermentation.
(B)  takes place in the presence of oxygen.
(C)  produces only energy in the muscles of human beings.
(D)  produces ethanol, oxygen and energy.
OR
Most of the digestion and absorption of the food takes place in the 1
(A) small intestine.
(B) liver.
(C)  stomach.

(D) large intestine.

9. Which of the following does not represent electrical power ? 1
A) I’R
(B) IR?
(C) VI
(D) VR

.
31413 i 9 | P.T.O.



10. foret TifSrEhiy ferer o Aifishi Sl 3c9a & & o) § ffafigd § 9 -
9 G 75T 8 ?

(A)  3HH ot ATk foarguea 6 afshan g ared Bl B |

(B) 3oH Lfem & e W Iz St aTel =it hl A hl A 7 |
(C) 39 Wk § e fufshan Bt 2 |

(D) 38 gfskn ¥ Fifa @t v fosmet 9 & St g6 Bt 7

aterat
gedt % 58 T Holl 1 o ST AId @
(A)  SoHTEn (SrEET)

(B) €K fafertor

(C) SdAr-¥re

(D) Yad

11. 9Hg INE=R0 9 & fovg § Feafafad § 9 9-91 %99 98 8 2

(A) B hdd TS 1 IgT HLdl % qAT <hTe SIEATFAES b1 dgd Aal
h{dl |

(B) HHd &<¥ H U™ his3 Bid & |

(C) dTea R % v AR W U9 H g @ § |

(D) TGF W AHISH-agA R SATeRIoH-=d QT Ter Hism g & |

12. e foreh =afes % urg e ghdees § R g% 1 ghy % Q3 @ =
AT ek fordaT 31frenas gfaliy ITed ot EehdT 2 2

A 1Q
B) 5Q
(C) 10Q
(D) 25Q

rat

fortt gfqiaess =1 gfa0y 39 IRF A9 &1 37 o fear w2 | vE
T, gfe gy & 3= Uraell i gidfad 9 fham e, o 39 gfdtess | e
J9 B ST

A T
(B) 3

(C) Um-=eEs
(D) =X AT

=g
.31/4/3 El% 10



10. Which one of the following statements is not true about nuclear energy
generation in a nuclear reactor ?
(A) Energy is obtained by a process called nuclear fission.
(B)  The nucleus of Uranium is bombarded with high energy neutrons.
(C) A chain reaction is set in the process.
(D) In this process a tremendous amount of energy is released at a
controlled rate.
OR
The biggest source of energy on Earth’s surface is
(A) Biomass
(B)  Solar radiations
(C) Tides
(D) Winds
11. Which one of the following statements is correct about the human
circulatory system ?
(A)  Blood transports only oxygen and not carbon dioxide.
(B) Human heart has five chambers.
(C)  Valves ensure that the blood does not flow backwards.
(D) Both oxygen-rich and oxygen-deficient blood gets mixed in the
heart.
12. If a person has five resistors each of value % Q, then the maximum
resistance he can obtain by connecting them is
A 1Q
B) 5Q
) 10Q
D) 25Q
OR
The resistance of a resistor is reduced to half of its initial value. In doing
so, if other parameters of the circuit remain unchanged, the heating
effects in the resistor will become
(A) two times.
(B) half.
(C)  one-fourth.
(D)  four times.
31/4i3 Hg 11 | P10
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For question numbers 13 and 14, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R). Select the
correct answer to these questions from the codes (a), (b), (¢) and (d) as

given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of the

assertion (A).

(b)  Both (A) and (R) are true, but (R) is not the correct explanation of

the assertion (A).
(c) (A) is true, but (R) is false.

(d) (A)is false, but (R) is true.

13. Assertion (A) : The sex of a child in human beings will be determined by

the type of chromosome he/she inherits from the father.

Reason (R): A child who inherits X’ chromosome from his father
would be a girl (XX), while a child who inherits a
Y’ chromosome from the father would be a boy (XY). 1

14.  Assertion (A) : Following is a balanced chemical equation for the action

of steam on iron :

3Fe + 4H20 — Fe3O4 + 4H2

Reason (R): The law of conservation of mass holds good for a chemical

equation. 1

-
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SECTION B

15. Define geotropism. Draw a labelled diagram of a plant showing geotropic

movements of its parts. 3

16. A cheetah, on seeing a prey, moves towards him at a very high speed.
What causes the movement of his muscles ? How does the chemistry of

cellular components of muscles change during this event ? 3

17. (a) How is a soap different from a detergent in composition ?

(b)  Design an activity to show that a detergent works well with all

types of water while a soap does not. 3
18. Lead nitrate solution is added to a test tube containing potassium iodide
solution.
(a)  Write the name and colour of the compound precipitated.
(b)  Write the balanced chemical equation for the reaction involved.
(c) Name the type of this reaction justifying your answer. 3

OR

What happens when food materials containing fats and oils are left for a
long time ? List two observable changes and suggest three ways by which
this phenomenon can be prevented. 3

19. List three differentiating features between the processes of galvanisation
and alloying. 3

OR

Compare in tabular form the reactivities of the following metals with cold
and hot water :

(a) Sodium
(b) Calcium

(c) Magnesium 3

.
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21.

22.

23.
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20. Define the term variation. Why is variation beneficial to a species ? List
two reasons for the appearance of variations among the progeny formed
by sexual reproduction.

OR
List two distinguishing features between inherited and acquired
characters. Also give one example for each type.

21. How will you use two identical glass prisms so that a narrow beam of
white light incident on one prism emerges out of the second prism as
white light ? Draw and label the ray diagram.

22. A concave mirror is used for image formation for different positions of an
object. What inferences can be drawn about the following when an object
is placed at a distance of 10 cm from the pole of a concave mirror of focal
length 15 cm ?

(a)  Position of the image

(b)  Size of the image

(c) Nature of the image

Draw a labelled ray diagram to justify your inferences.

23. Which defect of the eye is known as far-sightedness ? When does this
defect arise ? State two reasons. How is this defect corrected ?

24. The refractive index of a medium ‘)X’ with respect to a medium ‘y’ is 2/3
and the refractive index of medium ‘y’ with respect to medium ‘z’ is 4/3.
Find the refractive index of medium ‘z’ with respect to medium x’. If the
speed of light in medium %’ is 3 x 108 ms™1, calculate the speed of light
in medium ‘y’.

.
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25.

26.

.31/4/3

SECTION C

A cloth strip dipped in onion juice is used for testing a liquid X’. The
liquid ‘X’ changes its odour. Which type of an indicator is onion juice ?
The liquid X’ turns blue litmus red. List the observations the liquid X’

will show on reacting with the following :
(a)  Zinc granules
(b)  Solid sodium carbonate

Write the chemical equations for the reactions involved.

OR

Define water of crystallisation. Give the chemical formula for two
compounds as examples. How can it be proved that the water of
crystallisation makes a difference in the state and colour of the

compounds ?

(a)  Define the terms ‘alloy’ and ‘amalgam’. Name the alloy used for

welding electric wires together and write its constituents.
(b)  Name the constituents of the following alloys :

) Brass

(i)  Stainless steel

(iii) Bronze

State one property in each of these alloys which is different from

its constituents.
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27. (a)

(b)

(c)

(d)

28. (a)

(b)

(a)

(b)

29. (a)

(b)

(c)

(d)
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27. (a)

(b)

(c)

(d)

28. (a)

(b)

(a)

(b)

29. (a)

(b)

(c)

(d)

.31/4/3

State Fleming’s Left-hand rule.

List three characteristic features of the electric current used in our

homes.
What is a fuse ? Why is it called a safety device ?

Why is it necessary to earth metallic electric appliances ? 5

List the sequence of events in the uterus of a human female from
fertilisation of egg till childbirth.

State the changes that are observed in the uterus if fertilisation of

egg does not occur. 5
OR

What is vegetative propagation ? List three of its advantages.
Name two methods employed to grow new plants through

vegetative propagation.

Explain, giving reason, why more complex organisms cannot give

rise to new individuals through regeneration. 5

Why is nutrition necessary for the human body ?

What causes movement of food inside the alimentary canal ?

Why is small intestine in herbivores longer than in carnivores ?

What will happen if mucus is not secreted by the gastric glands ? 5
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30.

Draw a schematic diagram of a circuit consisting of a battery of 3 cells of
2V each, a combination of three resistors of 10 Q, 20 Q and 30 Q
connected in parallel, a plug key and an ammeter, all connected in series.

Use this circuit to find the value of the following :
(a)  Current through each resistor
(b)  Total current in the circuit

(¢) Total effective resistance of the circuit

OR

Two identical resistors, each of resistance 15 Q, are connected in
(i) series, and (ii) parallel, in turn to a battery of 6 V. Calculate the ratio

of the power consumed in the combination of resistors in each case.

EpE
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